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KS2 Arithmetic 

6874 
X  78 

 
 
 
 
 
 
 

4897 
X  69 

 

6978 + 5879 
       
                    

7148 -4799 

 

8919 ÷ 9 
 

5976 ÷ 8 
 

6657 ÷ 7 
 
 
 
 
 
 
 
 

68.40 + 4.669 
 

78.5 – 59.87 
 

35 x 0 = 

1 x 95 = 

 67 +       = 94 

    49 -       = 31 

- 41 = 68 

53 + 42 = 

      112 - 92 = 

6975=6000+          + 65 

 

MMDCXI= 
 

2914= 
 

98.5-39.78+21.4= 
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58% of 590= 9.57x100=   
789 ÷ 100=   
8.57 x10  =   
65.9 ÷ 10 =   
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12÷6 + 7x9 = 

2 + 3 – 12 ÷ 3= 

0.9   38 = 

0.8 x 49= 

-5+11= 
-31+26= 
-11+11= 
-9-9 = 
-27+32= 
-5+15= 

-6 x -7= 
-5 x 8 = 
-7 x -8= 

-16 ÷ -4 = 

-20 ÷ -10= 

54 ÷ -9= 
 

5319 ÷ 27= 

 

 

 

    

    

    


